INSTRUCTION
MANUAL
kB E

Panasonic’

Protection Bar Set

5855 ity MC-SFBH-LJ

CMJEC-MCSFBH No.0055-35V
Kl MOUTING ErV 1+

Mounting procedure

1. Mount the protection bar mounting bracket on the
sensor with the enclosed hexagon-socket head cap
bolts[M5(length: 16mm)]. The tightening torque should be
1.2N+m or less.

2. Mount the protection bar and the protection bar mounting
brackets with hexagon-socket head cap bolts with wash-
ers [M5(length: 20mm)]. The tightening torque should be
2.5N-mor less.

Hexagon-socket head bolt
with washer M5
ANARTELARIL M5

Protection bar mounting
bracket
JaFy rA—Rft£E

~

Protection bar /

JoTy bR—

I_ Protecnon bar |nt_ermed|ate_|
supporting bracket (Optional) |
l/ JaTFy rA—hREEEEE
/, (3135 !
Ve

TR

1.7 07 7 | oS—Hfff Aa AR (R O A T L
R M5 (J& 3 16mm) ] CE o IR (T EF, 20 &
DOFFDATF P 71E, 12N-mELF & LT Ean

27877 8= TRTF Y LA R RE AR
21 1 M5 (5 20mm) ] CHD fH £ 5, 200 L & Db
FH L2 L 25N mBL T & LTS,

Hexagon-socket head bolt M5
RATRFARIL FM5E

Sensor

~@ oY

J

——

|

Protection bar intermediate supporﬁng bracket(optional)
is attached to protection bar with its length be longer
than MC-SFBH-48. Use this bracket if the protection
bar bends a lot.

% List of components

Remarks
Material : SPCC

Designation Qty
Protection bar intermediate| 1pc.
supporting bracket

JaTy bA—hREREEE (BI5) (k. MC-SFBH-48
FYREWTOTY bNA—D b NKENFEICTHE

ALZE0,
Mam—E
AR [EEY %
JO79 bA—hRRESE | 18 M8 : SPCC
List of components Ha—E
Designation Qty Remarks HNE [EEY ®5
Protection bar 1pc. | Material : Aluminum FOT9 bis— 14 MY : 7=
Protection bar mountingbracket 1pc. | Material : Zinc Diecast JaFy bA—EftEE | R1E |HME: BSR4 HRE

(Left side, Right side) each

(IR, BRI

Hexagon-socket head bolt with washer | 2pcs. | M5 (length : 20mm)

RENFELRARIL b 2{@ M5 (K& : 20mm)

Hexagon-socket head bolt 2pcs.| M5 (length : 16mm)

AN RIL b 2{& M5 (K& : 16mm)

A DIMENTIONS (Unit:mm) Hf+ %R (B 6L - mm)

Protection bar left side

FOTY bN—Ef

@r

Protection bar right side
JaT7y F—FEf

T 407 <t <t < < 47 i <t < 4|

e a
L L~
s K
i =
oS K 5
i K
== N *
S5 B
= — )
7%7
' 1
Protection bar set model No. Applicable light curtain model No. Protective height A Mounting pitch B Overall height C Protection bar length D
a5y bnR—ty FRRE BETA FH—T URKE RHIEA WiTE Y FB ERPY 754 bN—ED
MC-SFBH-12 SF4B-F23(-01), SF4B-H12(-01), SF4B-A6(-01) 230 279 296 250
MC-SFBH-16 SF4B-F31(-01), SF4B-H16(-01), SF4B-A8(-01) 310 359 376 330
MC-SFBH-20 SF4B-F39(-01), SF4B-H20(-01), SF4B-A10(-01) 390 439 456 410
MC-SFBH-24 SF4B-F47(-01), SF4B-H24(-01), SF4B-A12(-01) 470 519 536 490
MC-SFBH-28 SF4B-F55(-01), SF4B-H28(-01), SF4B-A14(-01) 550 599 616 570
MC-SFBH-32 SF4B-F63(-01), SF4B-H32(-01), SF4B-A16(-01) 630 679 696 650
MC-SFBH-36 SF4B-F71(-01), SF4B-H36(-01), SF4B-A18(-01) 710 759 776 730
MC-SFBH-40 SF4B-F79(-01), SF4B-H40(-01), SF4B-A20(-01) 790 839 856 810
MC-SFBH-48 SF4B-F95(-01), SF4B-H48(-01), SF4B-A24(-01) 950 999 1,016 970
MC-SFBH-56 SF4B-F111(-01), SF4B-H56(-01), SF4B-A28(-01) 1,110 1,159 1,176 1,130
MC-SFBH-64 SF4B-F127(-01), SF4B-H64(-01), SF4B-A32(-01) 1,270 1,319 1,336 1,290
MC-SFBH-72 SF4B-H72(-01), SF4B-A36(-01) 1,430 1,479 1,496 1,450
MC-SFBH-80 SF4B-H80(-01), SF4B-A40(-01) 1,590 1,639 1,656 1,610
MC-SFBH-88 SF4B-H88(-01), SF4B-A44(-01) 1,750 1,799 1,816 1,770
MC-SFBH-96 SF4B-H96(-01), SF4B-A48(-01) 1,910 1,959 1,976 1,930

Panasonic Industrial Devices SUNX Co., Ltd.
http://panasonic.net/id/pidsx/global
Overseas Sales Division (Head Office)
2431-1 Ushiyama-cho, Kasugai-shi, Aichi, 486-0901, Japan
Phone: +81-568-33-7861 FAX: +81-568-33-8591
For sales network, please visit our website. ‘

© Panasonic Industrial Devices SUNX Co., Ltd. 2016
PRINTED IN JAPAN

© — — W
INFTIZWD FINM ASUNX%R Nt
http://panasonic.net/id/pidsx
At T486-0901 EHIRE B Fi4LET2431-1
<aA—LtvEg - 7)—=HLv)L>
TEL : 0120-394-205 FAX : 0120-336-394
2485 . AEAD 5 EEB OB~ 1285 5 & U138 ~178F
(BL. B, ERERFER)
© Panasonic Industrial Devices SUNX Co., Ltd. 2016
PRINTED IN JAPAN





